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1|Bemunsesa Depune 4] 4 4] 4 5 5 5 5 5 5 5 5 5 5 4 4 4,625 5| cie 12 4
2|Bonosenxo Kpuctuna 4 4 3 3 4 4 4 4 3 3 5 4 5 5 5 4 4 o 6 3
3| xamanunosa [ CaGuma 5 5 4 4 5 5 5 5 5 5 5 5 5 5 5 5 4,875 111 4
4] Jlockacsa Jlnns 4| 4| 3 3 5 5 4 4 4 4] 5 5 4 5 4 4 4,188 5 14 3
5|Ucamemmnosa Jasina 3 3 3 3 4 4 4 3 3 3 3 4 4 4 4 3 3,438 8 5 19 3
6]Hacuposa Wnsua 5 5 5 5 5 5 5 5 5 5 5 5 5 5 4 5 4,938 4 20 4
7|Huszuen Perng 4 4 4 4 5 4 5 5 4 5 5 5 5 5 4 4 45 4 4
8|Cknananosckuii  |Tennanuit 3 3 4 4 3 4 5 4 4 4 3 5 5 5 3 4 3,938 3
5" 2 2 1 1 5 4 5 4 3 4 6 6 6 7 2 2 0 60
4 4 4 4 4 2 4 3 3 3 2 0 2 2 1 5 5 0 48
"3 2 2 3 3 1 0 0 1 2 2 2 0 0 0 1 1 0 20
P 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 39| 252 8 51 0
cpejmii Gamt 4 4 375 375 45 45 4625 4375 4125 425 45 475 475 4875 4125 4,125 st 4,313
KAUECTBO 3HAHUI 75 75 625 625 87,5 100 100 875 75 75 75 100 100 100 875 875 0
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KnaccHrlii pyKoBOAHTEb: (J1.U.Hus3ues)
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